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Figure captions  

Fig. S1 (page 2-3): Seasonality maps showing the proportion of mean annual flux per 

season for all species investigated. The size of the pie charts is scaled to the log of the 

mean annual flux. 

 

Fig. S2 (page 4-42): periodic regression results for all sites. Black dots indicate 

observations, red line modelled flux. Sites are numbered according to Table 1. 

 

Fig. S3 (page 43): observed vs. modelled peak timing for individual species. Legend 

as in Fig. 3A. 

 

Fig. S4 (page 44): residual of observed-modelled peak timing for all species. Legend 

as in Fig. 3B. 

 

Fig. S5 (page 45-47): Maps showing presence or absence of a cyclic component in the 

individual time series. 

 

Fig. S6 (page 48-49): seasonality patterns of all species. Species with a green dot bear 

symbionts. 

 

Fig. S7 (page 50): proportion of time series with single and double cycles. As Fig. 4B, 

but for individual species grouped by seasonality mode. 

 

Fig. S8 (page 51-52): patterns in peak timing (cf. Fig. 7) compared to the seasonal 

pattern of upper ocean temperature. 
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